T22 (Typed by 大灰熊 & IBelieve)

GWD-TN-6: Verbal
-----------------------------------------------------------------------------------------------------------------------------------------------
GWD-8-Q1:GWD-13-13
Being that she was secretary of labor, Frances Perkins’ considerable influence with Franklin D. Roosevelt was used preventing him from restraining strikes by longshoremen and automobile workers.

A. Being that she was secretary of labor, Frances Perkins’ considerable influence with Franklin D. Roosevelt was used preventing

B. As secretary of labor, Frances Perkins’ considerable influence with Franklin D. Roosevelt was used to prevent

C. Being secretary of labor, Frances Perkins’ considerable influence with Franklin D. Roosevelt was used preventing

D. As secretary of labor, Frances Perkins used her considerable influence with Franklin D. Roosevelt to prevent

E. Secretary of labor, Frances Perkins’ considerable influence was used with Franklin D. Roosevelt preventing

------------------------------------------------------------------------------------------------------------

GWD-8-Q2:

Thelonious Monk, who was a jazz pianist and composer, produced a body of work both rooted in the stride-piano tradition of Willie (The Lion) Smith and Duke Ellington, yet in many ways he stood apart from the mainstream jazz repertory.

A. Thelonious Monk, who was a jazz pianist and composer, produced a body of work both rooted

B. Thelonious Monk, the jazz pianist and composer, produced a body of work that was rooted both

C. Jazz pianist and composer Thelonious Monk, who produced a body of work rooted

D. Jazz pianist and composer Thelonious Monk produced a body of work that was rooted

E. Jazz pianist and composer Thelonious Monk produced a body of work rooted both

------------------------------------------------------------------------------------------------------------

GWD-8-Q3:

In the late 1980’s, the population of sea otters in the North Pacific Ocean began to decline. Of the two plausible explanations for the decline—increased predation by killer whales or disease—disease is the more likely. After all, a concurrent sharp decline in the populations of seals and sea lions was almost certainly caused by a pollution-related disease, which could have spread to sea otters, whereas the population of killer whales did not change noticeably.

Which of the following, if true, most seriously weakens the reasoning?

A. Killer whales in the North Pacific usually prey on seals and sea lions but will, when this food source is scarce, seek out other prey.

B. There is no indication that substantial numbers of sea otters migrated to other locations from the North Pacific in the 1980’s.

C. Along the Pacific coast of North America in the 1980’s, sea otters were absent from many locations where they had been relatively common in former times.

D. Following the decline in the population of the sea otters, there was an increase in the population of sea urchins, which are sea otters’ main food source.

E. The North Pacific populations of seals and sea lions cover a wider geographic area than does the population of sea otters.

GWD-8-Q4-Q6
       Frazier and Mosteller assert that medical research could be improved by a move toward larger, simpler clinical trials of medical treatments. Currently, researchers collect far more background information on patients than is strictly required for their trials—substantially more than hospitals collect—thereby escalating costs of data collection, storage, and analysis. Although limiting information collection could increase the risk that researchers will overlook facts relevant to a study, Frazier and Mosteller contend that such risk, never entirely eliminable from research, would still be small in most studies. Only in research on entirely new treatments are new and unexpected variables likely to arise.

        Frazier and Mosteller propose not only that researchers limit data collection on individual patients but also that researchers enroll more patients in clinical trials, thereby obtaining a more representative sample of the total population with the disease under study. Often researchers restrict study participation to patients who have no ailments besides those being studied. A treatment judged successful under these ideal conditions can then be evaluated under normal conditions. Broadening the range of trial participants, Frazier and Mosteller suggest, would enable researchers to evaluate a treatment’s efficacy for diverse patients under various conditions and to evaluate its effectiveness for different patient subgroups. For example, the value of a treatment for a progressive disease may vary according to a patient’s stage of disease. Patients’ ages may also affect a treatment’s efficacy.

--------------------------------------------------------------------




GWD-8-Q4 :

According to the passage, Frazier and Mosteller believe which of the following about medical research?

A. It is seriously flawed as presently conducted because researchers overlook facts that are relevant to the subject of their research.

B. It tends to benefit certain subgroups of patients disproportionately.

C. It routinely reveals new variables in research on entirely new treatments.

D. It can be made more accurate by limiting the amount of information researchers collect.

E. It cannot be freed of the risk that significant variables may be overlooked.

------------------------------------------------------------------

GWD-8-Q5 :

The author mentions patients’ ages(line 40) primarily in order to

A. identify the most critical variable differentiating subgroups of patients

B. cast doubt on the advisability of implementing Frazier and Mosteller’s proposals about medical research

C. indicate why progressive diseases may require different treatments at different stages

D. illustrate a point about the value of enrolling a wide range of patients in clinical trials

E. substantiate an argument about the problems inherent in enrolling large numbers of patients in clinical trials

-------------------------------------------------------------------
GWD-8-Q6 :

The passage is primarily concerned with

A. identifying two practices in medical research that may affect the accuracy of clinical trials

B. describing aspects of medical research that tend to drive up costs

C. evaluating an analysis of certain shortcomings of current medical research practices

D. describing proposed changes to the ways in which clinical trials are conducted

E. explaining how medical researchers have traditionally conducted clinical trials and how such trials are likely to change

----------------------------------------------------------------

GWD-8-Q7-Q10
      The system of patent-granting, which confers temporary monopolies for the exploitation of new technologies, was originally established as an incentive to the pursuit of risky new ideas. Yet studies of the most patent-conscious business of all—the semiconductor industry—suggest that firms do not necessarily become more innovative as they increase their patenting activity. Ziedonis and Hall, for example, found that investment in research and development (a reasonable proxy for innovation) did not substantially increase between 1982 and 1992, the industry’s most feverish period of patenting. Instead, semiconductor firms simply squeezed more patents out of existing research and development expenditures. Moreover, Ziedonis and Hall found that as patenting activity at semiconductor firms increased in the 1980’s, the consensus among industry employees was that the average quality of their firms’ patents declined. Though patent quality is a difficult notion to measure, the number of times a patent is cited in the technical literature is a reasonable yardstick, and citations per semiconductor patent did decline during the 1980’s. This decline in quality may be related to changes in the way semiconductor firms managed their patenting process: rather than patenting to win exclusive rights to a valuable new technology, patents were filed more for strategic purposes, to be used as bargaining chips to ward off infringement suites or as a means to block competitors’ products.

------------------------------------------------------------------




GWD-8-Q7 :

The passage is primarily concerned with discussing

A. a study suggesting that the semiconductor industry’s approach to patenting during the period from 1982 to 1992 yielded unanticipated results

B. a study of the semiconductor industry during the period from 1982 to 1992 that advocates certain changes in the industry’s management of the patenting process

C. the connection between patenting and innovation in the semiconductor industry during the period from 1982 to 1992

D. reasons that investment in research and development in the semiconductor industry did not increase significantly during the period from 1982 to 1992

E. certain factors that made the period from 1982 to 1992 a time of intense patenting activity in the semiconductor industry

--------------------------------------------------------------------

GWD-8-Q8 :

The passage suggests which of the following about patenting in the semiconductor industry during the period from 1982 to 1992 ?

A. The declining number of citations per semiconductor patent in the technical literature undermines the notion that patenting activity increased during this period.

B. A decline in patent quality forced firms to change the way they managed the patenting process.

C. Increased efficiencies allowed firms to derive more patents from existing research and development expenditures.

D. Firms’ emphasis on filing patents for strategic purposes may have contributed to a decline in patent quality.

E. Firms’ attempts to derive more patents from existing research and development expenditures may have contributed to a decline in infringement suites.

--------------------------------------------------------------------

GWD-8-Q9 :

The passage makes which of the following claims about patent quality in the semiconductor industry?

A. 

It was higher in the early 1980’s than it was a decade later.

B. It is largely independent of the number of patents granted.

C. It changed between 1982 and 1992 in ways that were linked to changes in research and development expenditures.

D. It is not adequately discussed in the industry’s technical literature.

E. It was measured by inappropriate means during the period from 1982 to 1992.

-----------------------------------------------------------------
GWD-8-Q10:
Which of the following, if true, would most clearly serve to weaken the author’s claim about what constitutes a reasonable yardstick for measuring patent quality?
A. It is more difficult to have an article accepted for publication in the technical literature of the semiconductor industry than it is in the technical literature of most other industries

B. Many of the highest-quality semiconductor patents are cited numerous times in the technical literature

C. It is difficult for someone not familiar with the technical literature to recognize what constitutes an innovative semiconductor patent

D. There were more citations made per semiconductor patent in the technical literature in the 1970’s than in the 1980’s

E. Low-quality patents tend to be discussed in the technical literature as frequently as high-quality patents.

--------------------------------------------------------------------


GWD-8-Q11:

There are no legal limits, as there are for cod and haddock, on the size of monkfish that can be caught, a circumstance that contributes to their depletion through overfishing.

A. There are no legal limits, as there are for cod and haddock, on the size of monkfish that can be caught, a circumstance that contributes to their depletion through overfishing.

B. There are no legal limits on the size of monkfish that can be caught, unlike cod or haddock, a circumstance that contributes to depleting them because they are being overfished.

C. There are legal limits on the size of cod and haddock that can be caught, but not for monkfish, which contributes to its depletion through overfishing.

D. Unlike cod and haddock, there are no legal size limits on catching monkfish, which contributes to its depletion by being overfished.

E. Unlike catching cod and haddock, there are no legal size limits on catching monkfish, contributing to their depletion because they are overfished.

------------------------------------------------------------------------------------------------------------

GWD-8-Q12:

A certain automaker aims to increase its market share by deeply discounting its vehicles’ prices for the next several months. The discounts will cut into profits, but because they will be heavily advertised the manufacturer hopes that they will attract buyers away from rival manufacturers’ cars. In the longer term, the automaker envisions that customers initially attracted by the discounts may become loyal customers. 

In assessing the plan’s chances of achieving its aim, it would be most useful to know which of the following?

A. Whether the automaker’s competitors are likely to respond by offering deep discounts on their own products

B. Whether the advertisements will be created by the manufacturer’s current advertising agency

C. Whether some of the automaker’s models will be more deeply discounted than others

D. Whether the automaker will be able to cut costs sufficiently to maintain profit margins even when the discounts are in effect

E. Whether an alternative strategy might enable the automaker to enhance its profitability while holding a constant or diminishing share of the market

------------------------------------------------------------------------------------------------------------

GWD-8-Q13:

With a record number of new companies starting up in Derderia, and with previously established companies adding many new jobs, a record number of new jobs were created last year in the Derderian economy. This year, previously established companies will not be adding as many new jobs overall as such companies added last year. Therefore, unless a record number of companies start up this year, Derderia will not break its record for new jobs created.

Which of the following is an assumption on which the argument relies?

A. In a given year, new companies starting up create more new jobs on average than do previously established companies.

B. The number of people seeking employment is no larger this year than it was last year.

C. This year, the new companies starting up will not provide substantially more jobs per company than did new companies last year.

D. Previously established companies in Derderia will be less profitable this year than such companies were last year.

E. The number of jobs created in the Derderian economy last year was substantially larger than the number of jobs lost.

------------------------------------------------------------------------------------------------------------

GWD-8-Q14: GWD-2-11
Many people suffer an allergic reaction to certain sulfites, including those that are commonly added to wine as preservatives.  However, since there are several wine makers who add sulfites to none of the wines they produce, people who would like to drink wine but are allergic to sulfites can drink wines produced by these wine makers without risking an allergic reaction to sulfites. 

Which of the following is an assumption on which the argument depends?

A. These wine makers have been able to duplicate the preservative effect produced by adding sulfites by means that do not involve adding any potentially allergenic substances to their wine.

B. Not all forms of sulfite are equally likely to produce the allergic reactions.

C. Wine is the only beverage to which sulfites are commonly added.

D. Apart from sulfites, there are no substances commonly present in wine that give rise to an allergic reaction.

E. Sulfites are not naturally present in the wines produced by these wine makers in amounts large enough to produce an allergic reaction in someone who drinks these wines.

-----------------------------------------------------------------------------------------------------------

GWD-8-Q15:

Clouds are formed from the evaporation of the oceans’ water that is warmed by the Sun and rises high into the atmosphere, condensing in tiny droplets on minute particles of dust.

A. Clouds are formed from the evaporation of the oceans’ water that is warmed by the Sun and rises high into the atmosphere, condensing in tiny droplets on minute particles of dust. 

B. Clouds form by the Sun’s warmth evaporating the water in the oceans, which rises high into the atmosphere, condensing in tiny droplets on minute particles of dust.

C. Warmed by the Sun, ocean water evaporates, rises high into the atmosphere, and condenses in tiny droplets on minute particles of dust to form clouds.

D. The water in the oceans evaporates, warmed by the Sun, rises high into the atmosphere, and condenses in tiny droplets on minute particles of dust, which forms clouds.

E. Ocean water, warmed by the Sun, evaporates and rises high into the atmosphere, which then condenses in tiny droplets on minute particles of dust to form as clouds.

------------------------------------------------------------------------------------------------------------

GWD-8-Q16: GWD-13-15
Concerns about public health led to the construction between 1876 and 1904 of three separate sewer systems to serve metropolitan Boston.

A. Concerns about public health led to the construction between 1876 and 1904 of three separate sewer systems to serve

B. Concerns about public health have led to the construction of three separate sewer systems between 1876 and 1904 to serve

C. Concerns about public health have led between 1876 and 1904 to the construction of three separate sewer systems for serving

D. There were concerns about public health leading to the construction between 1876 and 1904 of three separate sewer systems serving

E. There were concerns leading between 1876 and 1904 to the construction of three separate sewer systems for serving

------------------------------------------------------------------------------------------------------------

GWD-8-Q17:

Fossils of a whale that beached on an African shore more than a million years ago and was subsequently butchered by hominids have been recovered by paleontologists.

A. that beached on an African shore more than a million years ago and was subsequently butchered by hominids have

B. that beached on an African shore more than a million years ago and then was subsequently butchered by hominids has

C. that beached on an African shore more than a million years ago, which was subsequently butchered by hominids, has

D. having been beached on an African shore more than a million years ago and subsequently butchered by hominids, have

E. having beached on an African shore more than a million years ago and then subsequently were butchered by hominids have

-----------------------------------------------------------------------------------------------------------

GWD-8-Q18:

According to a recent study of consumer spending on prescription medications, increases in the sales of the 50 drugs that were advertised most heavily accounts for almost half of the $20.8 billion increase in drug spending last year, the remainder of which came from sales of the 9,850 prescription medicines that companies did not advertise or advertised very little.

A. heavily accounts for almost half of the $20.8 billion increase in drug spending last year, the remainder of which came

B. heavily were what accounted for almost half of the $20.8 billion increase in drug spending last year; the remainder of the increase coming

C. heavily accounted for almost half of the $20.8 billion increase in drug spending last year, the remainder of the increase coming 

D. heavily, accounting for almost half of the $20.8 billion increase in drug spending last year, while the remainder of the increase came

E. heavily, which accounted for almost half of the $20.8 billion increase in drug spending last year, with the remainder of it coming

------------------------------------------------------------------------------------------------------------

GWD-8-Q19: GWD-2-12
Which of the following most logically completes the passage?

Concerned about financial well-being of its elderly citizens, the government of Runagia decided two years ago to increase by 20 percent the government-provided pension paid to all Runagians over 65.  Inflation in the intervening period has been negligible, and the increase has been duly received by all eligible Runagians.  Nevertheless, many of them are no better off financially than they were before the increase, in large part because ________.

A. They rely entirely on the government pension for their income

B. Runagian banks are so inefficient that it can take up to three weeks to cash a pension check

C. They buy goods whose prices tend to rise especially fast in times of inflation

D. The pension was increased when the number of elderly Runagians below the poverty level reached an all-time high

E. In Runagia children typically supplement the income of elderly parents, but only by enough to provide them with a comfortable living

------------------------------------------------------------------------------------------------------------

GWD-8-Q20:

Not only did the systematic clearing of forests in the United States create farmland (especially in the Northeast) and gave consumers relatively inexpensive houses and furniture, but it also caused erosion and very quickly deforested whole regions.

A. Not only did the systematic clearing of forests in the United States create farmland (especially in the Northeast) and gave consumers relatively inexpensive houses and furniture, but it also

B. Not only did the systematic clearing of forests in the United States create farmland (especially in the Northeast), which gave consumers relatively inexpensive houses and furniture, but also

C. The systematic clearing of forests in the United States, creating farmland (especially in the Northeast) and giving consumers relatively inexpensive houses and furniture, but also

D. The systematic clearing of forests in the United States created farmland (especially in the Northeast) and gave consumers relatively inexpensive houses and furniture, but it also

E. The systematic clearing of forests in the United States not only created farmland (especially in the Northeast), giving consumers relatively inexpensive houses and furniture, but it

------------------------------------------------------------------------------------------------------------

GWD-8-Q21:GWD-2-18
Last year all refuse collected by Shelbyville city services was incinerated.  This incineration generated a large quantity of residue ash.  In order to reduce the amount of residue ash Shelbyville generates this year to half of last year’s total, the city has revamped its collection program.  This year city services will separate for recycling enough refuse to reduce the number of truckloads of refuse to be incinerated to half of last year’s number.  

Which of the following is required for the revamped collection program to achieve its aim?

A. This year, no materials that city services could separate for recycling will be incinerated.

B. Separating recyclable materials from materials to be incinerated will cost Shelbyville less than half what it cost last year to dispose of the residue ash.

C. Refuse collected by city services will contain a larger proportion of recyclable materials this year than it did last year.

D. The refuse incinerated this year will generate no more residue ash per truckload incinerated than did the refuse incinerated last year.

E. The total quantity of refuse collected by Shelbyville city services this year will be no greater than that collected last year.
------------------------------------------------------------------------------------------------------------

GWD-8-Q22:

When storing Renaissance oil paintings, museums conform to standards that call for careful control of the surrounding temperature and humidity, with variations confined within narrow margins. Maintaining this environment is very costly, and recent research shows that even old oil paint is unaffected by wide fluctuations in temperature and humidity. Therefore, museums could relax their standards and save money without endangering their Renaissance oil paintings.

Which of the following is an assumption on which the argument depends?

A. Renaissance paintings were created in conditions involving far greater fluctuations in temperature and humidity than those permitted by current standards.

B. Under the current standards that museums use when storing Renaissance oil paintings, those paintings do not deteriorate at all.

C. Museum collections typically do not contain items that are more likely to be vulnerable to fluctuations in temperature and humidity than Renaissance oil paintings.

D. None of the materials in Renaissance oil paintings other than the paint are vulnerable enough to relatively wide fluctuations in temperature and humidity to cause damage to the paintings.

E. Most Renaissance oil paintings are stored in museums located in regions near the regions where the paintings were created.

------------------------------------------------------------------------------------------------------------

GWD-8-Q23:

A New York City ordinance of 1897 regulated the use of bicycles, mandated a maximum speed of eight miles an hour, required of cyclists to keep feet on pedals and hands on handlebars at all times, and it granted pedestrians right-of-way.

A. regulated the use of bicycles, mandated a maximum speed of eight miles an hour, required of cyclists to keep feet on pedals and hands on handlebars at all times, and it granted

B. regulated the use of bicycles, mandated a maximum speed of eight miles an hour, required cyclists to keep feet on pedals and hands on handlebars at all times, granting 

C. regulating the use of bicycles mandated a maximum speed of eight miles an hour, required cyclists that they keep feet on pedals and hands on handlebars at all times, and it granted

D. regulating the use of bicycles, mandating a maximum speed of eight miles an hour, requiring of cyclists that they keep feet on pedals and hands on handlebars at all times, and granted

E. regulating the use of bicycles mandated a maximum speed of eight miles an hour, required cyclists to keep feet on pedals and hands on handlebars at all times, and granted

------------------------------------------------------------------------------------------------------------

GWD-8-Q24:

A March 2000 Census Bureau survey showed that Mexico accounted for more than a quarter of all foreign-born residents of the United States, the largest share for any country to contribute since 1890, when about 30 percent of the country’s foreign-born population was from Germany.

A. the largest share for any country to contribute

B. the largest share that any country has contributed

C. which makes it the largest share for any country to contribute

D. having the largest share to be contributed by any country

E. having the largest share to have been contributed by any country

GWD-8-Q25-Q28
      Jon Clark’s study of the effect of the modernization of a telephone exchange on exchange maintenance work and workers is a solid contribution to a debate that encompasses two lively issues in the history and socialogy of technology: technological determinism and social constructivism. Clark makes the point that the characteristics of a technology have a decisive influence on job skills and work organization. Put more strongly, technology can be a primary determinant of social and managerial organization. Clark believes this possibility has been obscured by the recent sociological fashion, exemplified by Braverman’s analysis, that emphasizes the way machinery reflects social choices. For Braverman, the shape of a technological system is subordinate to the manager’s desire to wrest control of the labor process from the workers. Technological change is construed as the outcome of negotiations among interested parties who seek to incorporate their own interests into the design and configuration of the machinery. This position represents the new mainstream called social constructivism.

      The constructivists gain acceptance by misrepresenting technological determinism: technological determinists are supposed to believe, for example, that machinery imposes appropriate forms of order on society. The alternative to constructivism, in other words, is to view technology as existing outside society, capable of directly influencing skills and work organization. Clark refutes the extremes of the constructivists by both theoretical and empirical arguments. Theoretically he defines “technology” in terms of relationships between social and technical variables. Attempts to reduce the meaning of technology to cold, hard metal are bound to fail, for machinery is just scrap unless it is organized functionally and supported by appropriate systems of operation and maintenance. At the empirical level Clark shows how a change at the telephone exchange from maintenance-intensive electromechanical switches to semi-electronic switching systems altered work tasks, skills, training opportunities, administration, and organization of workers. Some changes Clark attriutes to the particular way management and labor unions negotiated the introduction of the technology, whereas others are seen as arising from the capabilities and nature of the technology itself. Thus Clark helps answer the question: “When is social choice decisive and when are the concrete characteristics of technology more important?”
--------------------------------------------------------------------


GWD-8-Q25 :

The primary purpose of the passage is to

A. advocate a more positive attitude toward technological change

B. discuss the implications for employees of the modernization of a telephone exchange

C. consider a successful challenge to the constructivist view of technological change

D. challenge the position of advocates of technological determinism

E. suggest that the social causes of technological change should be studied in real situations

--------------------------------------------------------------------

GWD-8-Q26 :

The information in the passage suggests that Clark believes that which of the following would be true if social constructivism had not gained widespread acceptance?

A. Businesses would be more likely to modernize without considering the social consequences of their actions.

B. There would be greater understanding of the role played by technology in producing social change.

C. Businesses would be less likely to understand the attitudes of employees affected by modernization.

D. Modernization would have occurred at a slower rate.

E. Technology would have played a greater part in determining the role of business in society.

--------------------------------------------------------------------

GWD-8-Q27 :

The author of the passage uses the expression “are supposed to” in lines 34-35 primarily in order to

A. suggest that a contention made by constructivists regarding determinists is Inaccurate

B. define the generally accepted position of determinists regarding the implementation of technology

C. engage in speculation about the motivations of determinists

D. lend support to a comment critical of the position of determinists

E. contrast the historical position of determinists with their position regarding the exchange modernization

--------------------------------------------------------------------

GWD-8-Q28 :

Which of the following statements about the modernization of the telephone exchange is supported by information in the passage?

A. 

The new technology reduced the role of managers in labor negotiations.

B. The modernization was implemented without the consent of the employees directly affected by it.

C. The modernization had an impact that went significantly beyond maintenance routines.

D. Some of the maintenance workers felt victimized by the new technology.

E. The modernization gave credence to the view of advocates of social constructivism.


GWD-8-Q29:

Because of a similarity to dance, synchronized swimming—exhibition swimming in which the movements of one or more swimmers synchronize to a musical accompaniment—is sometimes called water ballet, especially in theatrical situations.

A. of one or more swimmers synchronize to

B. of one swimmer or more is synchronized with

C. of one or more swimmers are synchronized with

D. by one swimmer or more is synchronized to

E. by one or more swimmers synchronize to

------------------------------------------------------------------------------------------------------------

GWD-8-Q30:

While studying the genetic makeup of corn, a new class of mutant genes was discovered by Barbara McClintock, a discovery which led to greater understanding of cell differentiation.

A. a new class of mutant genes was discovered by Barbara McClintock, a discovery which led

B. a new class of mutant genes in corn were discovered by Barbara McClintock, leading 

C. Barbara McClintock discovered a new class of mutant genes, and it led 

D. Barbara McClintock discovered a new class of mutant genes, a discovery that led

E. Barbara McClintock, who discovered a new class of mutant genes, leading

------------------------------------------------------------------------------------------------------------

GWD-8-Q31: GWD-2-12’

Which of the following most logically completes the argument?

Yorco and Zortech are two corporations that employ large numbers of full-time workers who are paid by the hour.  Publicly available records indicate that Yorco employs roughly the same number of such hourly wage workers as Zortech does but spends a far higher total sum per year on wages for such workers.  Therefore, hourly wages must be higher, on average, at Yorco than at Zortech, since _____.

A. Zortech spends a higher total sum per year than Yorco does to provide its hourly wage workers with benefits other than wages

B. the work performed by hourly wage workers at Zortech does not require a significantly higher level of skill than the work performed by hourly wage workers at Yorco does

C. the proportion of all company employees who are hourly wage workers is significantly greater at Yorco than it is at Zortech

D. overtime work, which is paid at a substantially higher rate than work done during the regular work week, is rare at both Yorco and Zortech

E. the highest hourly wages paid at Yorco are higher than the highest hourly wages paid at Zortech

------------------------------------------------------------------------------------------------------------

GWD-8-Q32:

At the annual stockholders meeting, investors heard a presentation on the numerous challenges facing the company, including among them the threat from a rival’s multibillion-dollar patent-infringement suit and the declining sales for the company’s powerful microprocessor chip.

A. including among them the threat from a rival’s multibillion-dollar patentinfringement suit and the declining sales for

B. which includes the threat of a rival’s multibillion-dollar patent-infringement suit and declining sales of

C. included among these the threat from a rival’s multibillion-dollar patentinfringement suit as well as a decline in sales for

D. among them the threat of a rival’s multibillion-dollar patent-infringement suit and the decline in sales of

E. among these the threat from a rival’s multibillion-dollar patent-infringement suit as well as the decline in sales for

------------------------------------------------------------------------------------------------------------

GWD-8-Q33:

In order to withstand tidal currents, juvenile horseshoe crabs frequently burrow in the sand. Such burrowing discourages barnacles from clinging to their shells. When fully grown, however, the crabs can readily withstand tidal currents without burrowing, and thus they acquire substantial populations of barnacles. Surprisingly, in areas where tidal currents are very weak, juvenile horseshoe crabs are found not to have significant barnacle populations, even though they seldom burrow.

Which of the following, if true, most helps to explain the surprising finding?

A. Tidal currents do not themselves dislodge barnacles from the shells of horseshoe crabs.

B. Barnacles most readily attach themselves to horseshoe crabs in areas where tidal currents are weakest.

C. The strength of the tidal currents in a given location varies widely over the course of a day.

D. A very large barnacle population can significantly decrease the ability of a horseshoe crab to find food. 

E. Until they are fully grown, horseshoe crabs shed their shells and grow new ones several times a year. 

------------------------------------------------------------------------------------------------------------

GWD-8-Q34: GWD-13-28

Fossils of the arm of a sloth found in Puerto Rico in 1991, and dated at 34 million years old, made it the earliest known mammal of the Greater Antilles islands.

A. sloth found in Puerto Rico in 1991, and dated at 34 million years old, made it the earliest known mammal of

B. sloth, that they found in Puerto Rico in 1991, has been dated at 34 million years old, thus making it the earliest mammal known on

C. sloth that was found in Puerto Rico in 1991, was dated at 34 million years old, making this the earliest known mammal of

D. sloth, found in Puerto Rico in 1991, have been dated at 34 million years old, making the sloth the earliest known mammal on

E. sloth which, found in Puerto Rico in 1991, was dated at 34 million years old, made the sloth the earliest known mammal of

----------------------------------------------------------------------------------------------------------------------------
GWD-8-Q35-Q37 

This passage was adapted from an article written in 1990.

 

     Research data indicate that there is a great deal of poverty in the United States among single-parent families headed by women. This problem could result from the fact that women’s wages are only 60 percent of men’s. Some economists believe that rigorous enforcement of existing equal pay laws would substantially decrease this wage inequity. But equal pay laws are ineffectual when women and men are concentrated in different occupations because such laws require only that women and men doing the same jobs be paid the same. Since gender concentration exists (for example, 80 percent of clerical workers are women), other economists argue that a comparable worth standard, which would mandate that women and men in any jobs that require comparable training and responsibility be paid the same, should be applied instead. But some policy analysts assert that, although comparable worth would virtually equalize male and female wages, many single-parent families headed by women would remain in poverty because many men earn wages that are below the poverty line. These policy analysts believe that the problem is not caused primarily by wage inequity but rather by low wages coupled with single parent hood, regardless of sex. As a solution, they challenge the government’s assumption that a family’s income should depend primarily on wages and urge the government to provide generous wage supplements (child and housing allowances) to single-parents whose wages are low.

--------------------------------------------------------------------




GWD-8-Q35 :

The passage suggests that the United States government’s policy towards providing wage supplements to parents whose wages are low is

A. considered ill advised by most economists who have studied the issue

B. based on assumptions about the appropriate sources of family income

C. under revision in response to criticism from some policy analysts

D. capable of eliminating wage inequality but not of raising incomes for both women and men

E. applicable to single-parent families headed by women but not to single-parent families headed by men

--------------------------------------------------------------------

GWD-8-Q36:

Which of the following is most clearly an example of the policy advocated by the policy analysts mentioned in line 26 ?

A. A government provides training to women who wish to move out of occupations in which women are concentrated.

B. A government supports research that analyzes the connection between wage inequality and poverty among single-parent families headed by women.

C. A government surveys wages annually to make certain that women and men in the same jobs receive the same pay.

D. A government analyzes jobs in terms of the education and responsibility they require and publishes a list of jobs that should be considered equivalent for wage purposes.

E. A government provides large rent subsidies to single parents whose wages are less than half the average worker’s wage.

--------------------------------------------------------------------

GWD-8-Q37:

According to the passage, some economists believe that, in the United States, there would be smaller differences between the wages of women and men who do the same jobs if

A. equal pay laws were enforced more fully

B. more stringent equal pay laws were passed

C. a more rigorous comparable worth standard 



    were developed and applied

D. more men entered the occupations in which women are concentrated

E. women received the same kind and amount of job training that men receive

GWD-8-Q38:

Unless tiger hunting decreases, tigers will soon be extinct in the wild. The countries in which the tigers’ habitats are located are currently debating joint legislation that would ban tiger hunting. Thus, if these countries can successfully enforce this legislation, the survival of tigers in the wild will be ensured. 

The reasoning in the argument is most vulnerable to criticism on the grounds that the argument

A. assumes without sufficient warrant that a ban on tiger hunting could be successfully enforced

B. considers the effects of hunting on tigers without also considering the effects of hunting on other endangered animal species 

C. fails to take into account how often tiger hunters are unsuccessful in their attempts to kill tigers

D. neglects to consider the results of governmental attempts in the past to limit tiger hunting

E. takes the removal of an impediment to the tigers’ survival as a guarantee of their survival

------------------------------------------------------------------------------------------------------------

GWD-8-Q39:

Whereas in mammals the tiny tubes that convey nutrients to bone cells are arrayed in parallel lines, in birds the tubes form a random pattern.

A. Whereas in mammals the tiny tubes that convey nutrients to bone cells are arrayed in parallel lines, in birds the tubes

B. Whereas the tiny tubes for the conveying of nutrients to bone cells are arrayed in mammals in parallel lines, birds have tubes that

C. Unlike mammals, where the tiny tubes for conveying nutrients to bone cells are arrayed in parallel lines, birds’ tubes

D. Unlike mammals, in whom the tiny tubes that convey nutrients to bone cells are arrayed in parallel lines, the tubes in birds

E. Unlike the tiny tubes that convey nutrients to bone cells, which in mammals are arrayed in parallel lines, in birds the tubes

------------------------------------------------------------------------------------------------------------

GWD-8-Q40:

From 1973 to 1976, total United States consumption of cigarettes increased 3.4 percent, and total sales of chewing tobacco rose 18.0 percent. During the same period, total United States population increased 5.0 percent.

If the statements above are true, which of the following conclusions can be properly drawn?

A. United States manufacturers of tobacco products had higher profits in 1976 than in 1973.

B. Per capita consumption of cigarettes in the United States was lower in 1976 than in 1973.

C. The proportion of nonsmokers in the United States population dropped slightly between 1973 and 1976.

D. United States manufacturers of tobacco products realize a lower profit on cigarettes than on chewing tobacco.

E. A large percentage of United States smokers switched from cigarettes to chewing tobacco between 1973 and 1976.

------------------------------------------------------------------------------------------------------------

GWD-8-Q41:

When drive-ins were at the height of their popularity in the late 1950’s, some 4,000 existed in the United States, but today there are less than one-quarter that many.

A. there are less than one-quarter that many

B. there are fewer than one-quarter as many

C. there are fewer than one-quarter of that amount

D. the number is less than one-quarter the amount

E. it is less than one-quarter of that amount
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